\ j
CITY OF PORTLAND, OREGON - BUREAU OF DEVELOPMENT SERVICES g;ﬁ_:_w/
1900 SW Fourth Avenue, Suite 5000 » Portland, Oregon 97201 » www.portlandonline.com/bds e Fax 503-823-7425 E]
Facility Permit Plan Intake Form
FOR INTAKE, STAFF USE ONLY Building/Mechanical TON \
Date Received 7 7/ [/ V Electrical i :TOA ) 3
Bqumg Reglstratlon # Plumbing Pa
Fixed Bid Fire S—el'g‘" 2
Bin # jt! F Q/ Planning
Building Permit # > BES
Mechanical # - L = w& PDOT
Plumbing Permit # Structural
Electrical Permit # Other

APPLICANT: Complete all sections below that apply

to the project. Please print legibly.

Print Name 5/76/ /V;””CACJ%C/' Sign Name e %&Af%‘
Street Address /33? =y @/0/\?0/7 5-7L

City fé/—f/ﬂ/ic/

State

(9/€ Zip Code 77202

Day Phone-205- 25 7- 600

FAX 503—237‘7038 email

Plans / permits available for pick up at 190 W 4th Avenu 2nd floor between 8:00 am to 5:00 pm
Contact Name for plan/permit pick up anc cr
Day Phone 503 "237’ é/@OO email
Project Building Name / # ADP B()I IC]'ﬂO] 4
- h | e
Project Address or Location <2 S2 e 4 )/ st Ave = Flee —

Project Name and Description

Envision

=

Total Project Value

Building Contractor

Project Reference #/Billing ID #

MechanicalContractor AMW'). can

Electrical Contractor

Plumbing Contractor

. CCB #
HeaTinq cce#_33135
JCCB# License #
CCB# License #

O Building Permit
No. of Stories

Const. Type

[Y] [N] Alarms Required
[Y] [N] Smoke Det. Req'd
[Y] [N] Sprinklers Req’'d

[Y] [N] Struct. Eng/ Calcs
Submitted

XMechanical Permit

Mechanical Valuation

&7, 655

Description H VAC,

modifics Tions

(@

fpp_intake  03/24/08

e space

 Electrical Permit

Please provide a completed standard electrical permit ap-
plication form. You may mail or deliver it to 1900 SW 4th
Avenue, Portland, Oregon 97201 or FAX to 503-823-7425.

- Plumbing Permit
Number of Fixtures

Back Flow Devices
Water Service (# of Feet)
Medical Gas

Other 1

City of Portland Oregon - Bureau of Development Services



AMERICAN HEATING:

WATER SOURCE HEAT PUMP
ATTACHMENT @ CONCRETE OVER METAL DECK

SERUCPEURA P CARE U LA T ENS

SHEETS
MECHANICAL UNIT CALCULATIONS MAI-MA4
SKETCHES SK1

&_L; "';‘,N,~.,'.,,).\w, (]

Lol i SRR

June 24, 2011

CIDA PROJECT NUMBER: 100087.01

Sl By

15895 SW 72"° AVE, SUITE 200
PORTLAND, OREGON 97224

) 226-1285 3 fax (503) 226-1670

;,*‘if’ n:;, f‘-'l:d:‘ MAIL info@cidainc.com

/U/ jbfﬁb@

i‘*/{ﬁ'Of! i ({/2
’/’QS

COMMERCIAL INDUSTRIAL DESIGN ARCHITECTURE P.C. CIDA INC,




CIDA Standard Mechanical unit Attachment cdg
TEL: (503) 226-1285 Water source Heat pump 6/24/2011
FAX: (503)226 1670

MECHANICAL UNIT ATTACHMENT-LATERAL FORCES
Water Source Heat Pump Hung below floor framing

W, == 4001b Weight of unit

L := 56.75in Length
Wy, := 31.75in Width of unit
h,, := 21-in  Height of unit

SEISMIC PARTS AND PORTIONS (Portland, OR 97229)
Mapped S¢:= 1.073 site class= D

Adjusted Maximum

Sims = Fi'Ss byl Lt S = 1.15
Design

2
SDS = E.Sms SDS =0.765

USE  5,5:= 0.80 CONSERVATIVE FOR PORTLAND METRO AND VANCOUVER WA AREAS

h:= 10 z:= h-0.75 Assumes maximum 4-story building with box under 4th floor
Iy:= 1.0
ay:= 1.0 Ryi= 2.5 Values for wet side HVAC per table 13.6-1 ASCE 7-05
0.4-a 'SDS‘I : .
Fp:= ~—; p-(l + 2-%)-% Fp = 1281b 0.7-Fp = 89.61b  Total seismic
P
Fpmin := 0.3:Spg-1yWp, Fomin = 961b 0.7-Fpmin = 67.21b Total seismic

0.2-Spg-W,, = 641b



CIDA Standard Mechanical unit Attachment cdg
TEL: (503) 226-1285 Water source Heat pump 6/24/2011
FAX: (503)226 1670

VERTICAL ATTACHMENT OF HEAT PUMP TO UNDERSIDE OF CONCRETE OVER METAL DECK

W
p :

Peomer i= — Peomer = 1001b  Vertical load to corner
4 support from dead load
hm

Mg = FP"'Z—

MO!
Peeis - w2 Py = 21.171b  Vertical load to corner

support from seismic overturning

ASD loads for attachment to unit 1.0dD+0.7E, 0.6D-0.7E

0.2Spg- W, : .
Py = Pyrner + 0.7 .______4 + Pgeis P, = 126.021b Maximum vertical load
0.2-Spg-W,, e :
Py := 0.6:-Pgomer — 0.7:| ———— + Pgeis P, = 33.981b Minimum vertical load > 0 no
4 compression in vertical support

3/8" Rods each corner

LRFD loads for attachment to concrete 1.2D+1.0E, 0.9D-1.0E

0.2:Spg' W, : .
Pra := | 1.2-Psomer + 1.0- T Peis | [-1.3 Py = 204.311b Maximum vertical load
0.2:Spg-W,, .- .
Poui i= | 0.9-Pegmer — 1.0 ———— + Pgis | [-1.3 Py = 68.691b Minimum vertical load > 0 no
4 compression in vertical support

Note: loads increased by 1.3 per ASCE 7-05 section 13.4.2a

Try 3/8"x 1 1/2" embed Simpson Titen HD anchor at support
Np, := 5801b Pullout resistance (conc. on metal deck-cracked)

Vg := 2240lb  steel strength in shear (conc. on metal deck-cracked)

P
L U=0.72 <1.0 OK use 3/8"dia Simpson Titen HD anchor w/

2L 0.75-0.65-Npp 1 1/2" min embed at each support—install per ESR 2713



CIDA Standard Mechanical unit Attachment cdg
TEL: (503) 226-1285 Water source Heat pump 6/24/2011
FAX: (503)226 1670

LATERAL BRACING OF WATER SOURCE HEAT PUMP

Box is braced by splay wires at 45degrees vertical and horizontal each corner (4) total.

Fp
Tuwire = 7\/5\/5 Tuwire = 1281b

LRFD for attachment to concrete

Fps= T 13 Ty = 166:41b 1.0E load increased by 1.3 per ASCE 7-05 section 13.4.2a
Tup L .
Vi i= _-\/-_— Ve = 117.661b Vertical component of wire force
2
Tune ; :
e -\/—5 H,i, = 117.661b horizontal component of wire force

Try 3/8"x 1 1/2" embed Simpson Titen HD anchor at each wire

Ny := 5801b Pullout resistance (conc. on metal deck-cracked)
Vg := 2240lb  steel strength in shear (conc. on metal deck-cracked)

Ven Horiz

U= + e -
0.75-0.65-Ny,  0.75-0.60-V U =0.53 <1.2"OK_ use 3/8"dia Slmpspn Tlten HD anchor w/
1 1/2" min embed at each wire--install per ESR 2713




CIDA
TEL: (503) 226-1285
FAX: (603)226 1670

Alternate anchors:

Standard Mechanical unit Attachment cdg

Water source Heat pump 6/24/2011

1/2" dia Simpson Strongbolt w/ 2 3/4"embed ESR 1771

Npn := 13350b Pullout resistance (conc. on metal deck-cracked)

Vg := 4405Ib  steel strength in shear (conc. on metal deck-cracked)

3/8" dia Powers Snake+ w/ 1 5/8"embed ESR 2272

N

I

pn -
Vg := 7701b

10751b Pullout resistance (conc. on metal deck-cracked)

steel strength in shear (conc. on metal deck-cracked)

3/8" dia Powers Stud+ SD1 w/ 2 3/8"embed ESR2818

Npq := 13751b Pullout resistance (conc. on metal deck-cracked)

Vg := 21201b  steel strength in shear (conc. on metal deck-cracked)

3/8" dia Powers Wedge Bolt+ w/ 2 1/8"embed ESR2526

Npn':

= 1425lb Pullout resistance (conc. on metal deck-cracked)

Vg := 1640lb steel strength in shear (conc. on metal deck-cracked)

3/8"x 1 1/2" embed Simpson Titen HD Rod Hangers ESR 2713 (THD37212RH)

Npn 1= 5801b

Pullout resistance (conc. on metal deck-cracked)

Vg := 2240lb steel strength in shear (conc. on metal deck-cracked)

Simpson Blue Banger Cast in place Inserts for conc. over metal deck

Ty = 32101b
Vi := 27901b
P
Tallow
I Vcn i Hon'z

Tallow Vallow

Tauow := 8001b
Vallow := 700]b
U=026 <1.0 OK use Simpson Blue Banger Inserts at each
support rod
U=032 <1.2 OK use Simpson Blue Banger Inserts at each

splay wire



.

TYP WATER
SOURCE HEAT : i
PUMP LESS <
e VERTICAL ROD
THAN 400LB N e HANGERS PER
F o, = ELEVATION ATTACH
Sl TO UNIT PER MNFR
E§§__ Z SPLAY WIRE
EA. CORNER
]
P PLAN

ALTERNATE CONCRETE ANCHORS: (EXISTING SLAB)

3/8"x2 1/8" POWERS WEDGEBOLT PER ESR 2526

3/8"x2 1/2" POWERS POWER STUD+ SD1 PER ESR 2818
1/2"x2 3/4” SIMPSON STRONGBOLT PER ESR 1771

3/8"x 1 5/8" EMBED POWERS SNAKE+ PER ESR 2272
3/8"x1 1/2" EMBED SIMPSON TITEN HD PER ESR 2713
3/8"x2 1/2” SIMPSON TITEN HD ROD HANGER PER ESR 2713
NEW SLAB) CAST IN PLACE SIMPSON BLUE BANGER HANGERS

3/8"x 1 5/8" EMBED POWERS
SNAKE+ SCREW ANCHOR AT EA.
ROD PER ESR 2272

- - = -

. a. Ol o ST e e e

s 4 it - et e 2w

S g e ) ST ; :

2 = 5 A a
A2 S s

e g o i
4%, “
B/ -
A o AN
] . ..

M,q,\,.

ELEVATION

SIMPSON TITEN HD SCREW ANCHOR

3/8"x1 1/2" EMBED PER ESR2713
@ EA BRACE WIRE & EA. HANGER

12 GA. WIRE TO BRACE UNIT—-TYP.
EA. CORNER

3/8"¢ THREADED ROD
HANGERS——-TYP. EA. CORNER

—— CONCRETE OVER METAL

DECK FLOOR

/1 WATER SOURCE HEAT PUMP

1" = 1!_0»

\SK/
AMERICAN HEATING

WATER SOURCE HEAT PUMP ATTCHMNT - SK1

06.24.11
CDG

PORTLAND,

B

>TANDARD DETAL

15895 SW 72ND AVE.
=6

SUME 200

R R =t o b NSl BB INE

OREGON 97224

o4

1" = 1’—'0"

TEL: (503) 226—1285
A NN

FAX: (503) 226—1670
gt QO R WS N

(© 2007 CIDA, INC. ALL RIGHTS RESERVED



14" = =

e /'/: l " cc ‘:. : ‘ -~
= G

EXISTING RELOC

Dwgs\3~Mechanical\512

3_Permit

i1 g

my\

Evigion

SA DUCT W/ NEW &" OSA
ucT

[

o e AR
DIZ2xxx\

Dale_

012\

7]

FILE: 512277M200.DWG — M200 | EDIT: 7/18/2012 2:53 PM BY JASON | PLOT: 7/18/2012 2:59 PM BY JASON LOVELL

oy

PLAN - HVAC

M20D ) scALE: /8" = I'-0"

@‘DARTIAL SECOND FLOOR |

LEGEND

DATE: .

DATE: .

|INmALS: .

CD  CEILING DIFFUSER - T-BAR
CD-1  CEILING DIFFUSER - SURFACE MOUNT
CRG  CEILING RETURN GRILLE - T-BAR
CRG-1 CEILING RETURN GRILLE - SURFACE MOUNT
CEG  CEILING EXHAUST GRILLE - T-BAR .
CEG-l CEILING EXHAUST GRILLE - SURFACE MOUNT
ClG  CEILING TRANSFER GRILLE - T-BAR
CTG-1  CEILING TRANSFER GRILLE - SURFACE MOUNT
SWT  SIDE WALL TRANSFER GRILLE
SWS  SIDE WALL SUPPLY
SWR  SIDE WALL RETURN
SWE  SIDE WALL EXHAUST
eD 8LOT DIFFUSER - T-BAR
8D-1  SLOT DIFFUSER - SURFACE MOUNT
FéG  FLOOR SUPPLY GRILLE
FRG  FLOOR RETURN GRILLE
TOD  TOP OF DUCT
BOD  BOTTOM OF DUCT
8/A  SUPPLY AIR
R/A  RETURN AIR
E/A  EXHAUST AIR
VIR  VENT THROUGH ROOF
T8  THROUGH JOIST SPACE
AFF.  ABOVE FINISHED FLOOR
BFC. BELOW FINISHED CEILING
X SUPPLY DUCT/DIFFUSER GRILLE
RETURN DUCT/DIFFUSER GRILLE
7] EXHAUST DUCT/DIFFUSER GRILLE
e DIFFUSER ¢ GRILLE CALL OUT
EQUIFMENT CALL ouT
o CONNECT TO EXISTING
o SMOKE DETECTOR
BO— eMOKE DAMPER
Mo— ™MotorizED DAMPER
® EXISTING TO REMAIN
® RELOCATE
& REMOVE
™ NEW
@  FIRE DAMPER - FD
0 FIRE SMOKE DAMPER - FSD
St VOLUME CONTROL DAMPER - VD
® SENSOR
@ THERMOSTAT
—G—  GAS PIPING
DUCT WITH LINER
==  DUCT WITH LINER
e NEW LINE TYPE - TYPICAL
EXISTING LINE TYPE - TYPICAL
_____ DEMO LINE TYPE - TYPICAL
@ RETURN AIR BALANCE TAG
& SUPPLY AIR BALANCE TAG
T ( EXHAUST AIR BALANCE TAG
s g 0 s i s

Printed on 100% recycled paper if green, otherwise printed on 35% recycled paper a

|

w K_l
e 8 3
2E 2 B2l ..
gg 8 " : E
Q
£ 8
E& 2.
2z s v
5 L=
geg, E32 z2 8
3.9 5F a3 B
bEEd Euz 53 3
Som% gg: Q< Q
Boss S<f LB
uggwﬁ m%% gE -
FEEFS %gg 35 |
2335k 83z 559
[T R
éoé £ S, Zo
oSio0 Hud SF
EEEE? £98 %9
s
<
o
)
L
F.

10O
Z
=
)
2
>
L
x
O
=
(]

2 \KEY PLAN

M22@2 ] sCALE: NONE

PRELIMINARY

PARTIAL SECOND FLOOR PLAN - HVAC

NG TME:
408 TME

e —

— EVISION T.I.
2925 SW 1ST AVENUE - 2ND FLOOR

ADP

PORTLAND, OREGON

97201

ican
g, Inc.

Ll
PORTLAND, OREGON 97202-2418

Amer
Heat

‘

1339 S.E. GIDEON STREET

TELEPHONE (503) 239-4600 FAX (503) 239-7038

JOB START DATE:

1lrR / RBeP\2

[X~1642S0 -~ A4

DESIGNED BY:

D. HAMMETT

JOB SETUP BY:
J. DAVENPORT

JOB NO.

[ B | 22 > 2 &

SHT. NO.

SH IN SET

;




